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1. Translate any two of the following in your mother language :
4x2=8

T T Y51 COMR ArpSe Sed < :

(@) T WIFHT | T A AT S IR, a7 feer ¥ g P
i T3 3 | AT O TR YT W ST T STRAT Agae
R faafy =)

(b) @ §4: TYRHeH Fa1 ¥ R fagw: — 33! frd sdnmEe: it 590

g .,

(c) 31 TSI TETYTIOT 7HTSH TAHAT U TR T WehT9 Y=8q— ‘3R
gfera! g vertye: & ofe: 9 92, F4T T Ff: &’ 3

2. Answer any one of the following : 2
©od ¥ (I @b Teq o

(a) To whom g?h 1s compared and why?

TS (927 =197 Porll 1 (R UIF 72

(b) What are the five things formed in a baby in mother’s
womb?

TesrSs AFiee? Prad fF & bl e 3 = 2

3. Answer any one of the following questions : 2
o] 2P R el @b T o

(@) ‘%) IR 7 TRETOR TR g )

—Who is the speaker of this line? Who is SRUIFA’? Whom
he want to save?

— U IS (P ? ‘TROWE (2 (€ 75 5] SR (et ?
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(b) “RTTioT: Sy A ey e

—Who is meant by the word ‘@M’ here? What did AT

say?

—S T *¥F 1 316 Joadl $20e 2 TRy & e 7

(c) ‘% WEY ST

—What did ‘§%’" say arrogantly? Why he said this?
—'I¥ @ oicdeT R e 2 Ry (08w Gt 2

4. Fill in the blanks in the following verse with aﬁpropriate words :

BRSSO CoIRRTRT A 97% o 3

;__E ‘Eﬁ e
<A fafa T |

Or / i<t
HOqFm _ dgfd
JOTEATET A |

5.
S T G Bt ~ia et oy -
(i) ¥=T in Q. No. 1 (a)
1R (a) 2 T .
(ii) N in Q. No. 1 (q)
1R (a) 2o s
(iii) %99 in Q. No. 1 (b)
17 (b) 2 foraa
(iv) S in Q. No. 1 (c)
1% (c) s 7Ty
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(@) Derive any two of the following words :

172%x2=3
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(b) Decline any two of the following : 1x2=2
R R e Ko oot e

() ‘R’ in 2nd case-ending plural
g’ SR freferr azavmro
(i}) ‘¥’ in 6th case-ending singular
Y’ 1) Refey wamTe
(i) ‘WRY’ in 3rd case-ending dual
T $Om Rrefes faoro
(iv) ‘L in 4th case-ending singular
Y, vl efed atTe
(¢) Conjugate any two of the following : 1x2=2
o R e PR e Brd -
(i) N + T
(i) NI + @ Adfw
(if)) N + gE wfa
(iv) VTE + Eﬁ@'\%
(d) Frame adjectives from any two of the following nouns -

: 1Y4%x2=3
Sol R et qot ROe™R »[1 Rewd om s <4

s ; @ ; g ; A
* & W
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